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1.1- Outof the following, is less malleable metal.
Silver 4~ (D) - Gold- 4 (C)
2- of the following gases diffuses faster.

Fluorine u_‘uﬁ D) Chlorine uj»g (C)

3- is the compound which is not soluble in water.
MgCl, (D) CeHs (C)

4- The most common example of corrosion is
rusting of iron o 5 /‘a;’ (B)
efs St (D)

rusting of tin

5 - Molarity is the number of moles of solute dissolved in
100 g of solvent U 1/ 100 £ & sy (B)
J1dm3 L (D)

1 dm® of solution

6 - In the redox reaction between Zn and HCY,
oxidizing agent is
H, (D) H

7 - moles are equivalent to 8 grams of CO4.
0.18 (D)

8 - Abond pair in Covalent molecules usually has
7':}?! 4 electrons (D) '/';/"-gl 3 electrons (C)

9 - Butter is an example of solution
liquid in solid L Ut U¥# (B)
liquid in gas &t % u¥ (D)

10 - One amu (atomic mass unit) is equivalent to
oS 166x10% g (D) ¥ 1.66x107 Kg (C)

11 - - From the following scientists
J.J Thomson Wz .2z (B)
Rutherford 5,8 (D)

12 - Out of the following halogens, has the lowest
electronegativity.

lodine ¢/3#T (D) Bromine (% (C)

discovered the proton.

rrdﬁ}fﬂlff;?c—u«'cf,ibu

lron 2T (B) Sodium (£ (A)

e b e gy
Nitrogen ¢/t (B) /' Hydrogen (fs.i (A)

-c‘;u..";_/i?;)’gj'd&l‘ﬁf C—JIJ:)'('//)

Na KBr (A)
& Jlﬁ‘(bc _— SuinS
chemical decay 2425 K< (A)

rusting of aluminium 3 fﬁiy’b (C)

¥ aﬁd’ﬁg— 3a s JZ"L .LX..}’L;;A}’
1Kgofsolution & (L1 L F (A)
1.dmd of solvent & 1 dm3 L 2wy (C)

(Redox) (/f'/_&:/ Wi L J/-'JJKJ/:(Q 2l £
~¢ b LA L fgj"cﬂm L uig'd/
cl (B) Zn (A)

A &y Luiyf8Lco;

0.21 (B) 0.15 (A)

& v Uof o dlany A wskef

5341 2 electrons (B) U1 1 electron (A)
e Jo S A

gas in solid u'fui U# (A)

solid in liquid  U¥ Uz &L (C)

e ae £ U2 (e gl L) amu
oS 186x10% g B) (1 1.66x107 mg (A)

g;‘.fﬁ&/) L'J;’{ P f o U,JU/‘:L' J“',?Zy/)

Goldstein /. (A)

Ak (©)
e e b BB Pk e i i

Neil Bohr

Chlorine q"ub/ (B) Fluorine c[/:ﬁ (A)
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Note: Section I is compulsory. Attempt any TWO (2)

questions from Section II

(2) v ch:_ tf-‘r”»-"’ -§.J)Ud3|~b w2d

-gc.v[.L?. Lty

Section -1 J3l o

2 - Write short answers to any FIVE-(5) questions. (5 x2=10)
i- Define Atomic Mass Unit. Why it was needed?

ii- Differentiate between Molecular Mass and Formula Mass.

iii- How are canal rays produced in discharge tube?

iv-  Write down the defects of Rutherford Model.

v - Whatis meant by Dobereiner Triads?

vi- What is meant by periodic function?

vii- Write down the names of the elements of group-l with
their symbols.

viii -  Why is the trend of electron affinity and electronegativity
same in a period?
3 - Write short answers to any FIVE (5) questions. (5 x2=10)
i- Define Hydrogen bonding with an example.
ii- How does a Covalent Bond become polar?
i1i -  Why does ice float on water?
iv - Define pressure and also give its Sl unit.

v - Why does H, diffuse rapidly than O,?

vi- Differentiate between solute and solvent,

Mass
ass

vii- Whatis meant by % 7

viii-  Why do solutions not show tyndall effect?

4 - Write short answers to any FIVE (5) questions.

i- Whatis meant by Galvanizing?
ii- What happens to iron in the rusting process?
iii-" Find out the oxidation number of Nitrogen in HNO,.

s Fe 41"

iv-  Complete the equation
v~ Why is Calcium more electropositive than Magnesium?
vi- Write down two uses of silver.
vii- Write down one difference between alkali metal and
alkaline earth metal.

viii- HF is weak acid. Why?

B fenz Bl 5) bl df-2

STt U enrS Ui ZfJ/’J._z!JL L i

JZE LG bl oV SE
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Tew. sl Ve J&@l}[. Al -v

el Ve AP s v

ALK Egnl FNL LSl i

e o] 05 KD G 0 b i
e ud

i feyz B Llety 5)b) < df-3
s S g Sy Py -i
e bl yhy ekl -
e dgud g dy e -
A EysivuiamgE wfS By -y
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Se e %— -vii
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(6x2=10) -2 feliz Loty (5) &L 0F -4

sty e Kt
Vc,t'rb(:fuz’fc_,i_fj -ii
o AT TE R S HNO, - i
— > Fe* +1e” é()"{/_’;bv -iv
e sl ud (el it
@ e S i
-fﬂ‘fJ/uﬁ ¥ S S sl J’—'-'g‘ﬁl -vii

qé.‘;ﬁ,.?; e .,,l)f'/)/vg HF - wviii
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Section - II (% JU/ e flo 2y

5- (a) Define molecule. Describe its any four types. (5) (L e JJwa -é .,yfgfdggh ()
. -2k

(b) What is meant by lonic Bond? Explain it with an (4) L ooy S U e ol Ve LT (S)
example. e e

6 - (a) Describe any five differences between (5) & Jf Uen & s LS a3l 3030 (LI
Rutherford's Atomic model and Bohr's _2,:{ ok 0/ f’/&

atomic theory.
(b) How vapour pressure depends upon nature of ~ (2+2=4) u'/{ }/,;;ul N Y ¥ 0 ()

liquid and temperature? fe tn UA

7- (a) Define Electrolytic Cell. Explain its working. (2+3=5) rKL = SN Sy A (L
’ B moln Ska Ll

(b) Write down four characteristics of solution. (4) -Z’: ;f oo - sk J g ( )
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1.1- Outof the following, is a weak electrolyte.
NaOH inwater ~ NaOH % i (B)
CH3COOH in water CH3COOH (2 it (D)

2 - Out of the following,

0.25M (D) 0.5M (C)

3- of the following motions is possessed by solid particles

Jr S (B)
non-vibrational motion j}’ﬁ/; ot (D)

vibrational motion

4 - The Empirical Formula of Benzene is

CgH,,04 (D) HO (C)

5- Mistis an example of solution
gasinliquid  UZut L (B)
gas in solid quﬁ W (D)

6 - When U-235 breaks up, it produces

positrons 73 (D) neutrons 1./

remains same.
Atomic Radius <4/t (B)
Electron Affinity Cﬁw u;/'gl (D)

7 - Ina period

| Y ——

3

8- of the following molecules is diatbmic.

CO, (D) H,0 (C)

9 -  Out of the following compounds, is not directional

in its bonding. ‘
H,0 (D) €O, (C)
10 - Melting point of Sodium Chlorige is
1413°C (D) 1000°C (C)
11 - Out of the following non-metals, is lustrous.

Carbon ¢z (D)

12 - The oxidation number of Sulphur in H,SO, is

+8 (D) +6 (C)

18-(I-18t A 124-116000 ‘?

solutions contain less water.

lodine QS::’I' (C) Phosphorus (6 (B)

Sulphur 3 (A)

0 Ay Sk Q’UV
- _/U:'/..dlu/ c'—u.'fJ”}Zy/) -1.1
NaClin wat NaCf - &g (A)
H,S0, in wéfter H,S0, U* d} (C)
r(&&uhﬁ‘fu*cuﬁu' -2
1M ( 2M (A)
e rdh bt Ay s o3
rotational motion o/ % (A)
translational motion /¥ J%J')I/‘ (C)
< umsgﬁ/;{v Kefr -4
CH (B) CeHg (A)
« dl} JJU’JM) « B
liquid in gas &b Ut uf (A)
solid in gas J);’ui’ u"»f (€)
etrlge Jie $9235-fHy 2 -6
protons '/':7:{ (B) electrons '/':}?l (A)
At IRV VIV 7 S (R
Shielding Effect it LA (A)
lonization Energy §./ 27t#7 (C)
e JA s s -8
05 (B) H, (A)
e § e 5L Ehy e S Sits -9
KBr (B) CH, (A)
o iy Bew Kk 10
900°C (B) 800°C (A)
-q_/l/f;'ﬁut c.uf.'J”JZy/: -11

e bt AFITE L HS0, 12

+4(B) +2(A)
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’ Section -1 Jil o
9 - Write short answers to any FIVE (5) questions.  (6x2=10) - .~ IZ/‘; L = Uly (5) é e Jf 2
i- Define a substance with an ex;mple. 225 Jo L &/ J S i
ii- Write down the symbol and valency of Arsenic. _c’ii Q"J‘} 2l J/ K..,@pl -1
iii-  Write down two defects of Rutherford's Atomic Model. ﬁ.’:’i_-(“/flfjb’a? nys thutl O s -iil
iv- How can U-235 be used for power generation? fe Foydenl & Lo 2m /U235 -iv
v - Define Dobriner's Triads and give an example. L Jli' 2l é.ﬁgfu(/‘/}léf/‘ /U.u‘ -v
vi- Why are noble gases not reactive? SUin u.’."’ e 18, u,»./ /,[ JI v
vii - Give the trend of Electron Affinity in a group with reason. -G Lf(,» 3! é’ju@u o %:/fg Jf"? ul}-gi - vii
viii - Define Electronegativity. gy S ,}Q}?; - viii

8 - Write short answers to any FIVE (5) questions.  (6x2=10) -é{f@&'ﬁﬁéaﬂ'r (5) é}; < J)/- 3

i- lonic compounds are solids. Explain. ,é woldy g Lo JJJ%L{..Q’T "
ii- What types of Covalent Bonds are formed in Oxygen molecule ¥ () SR J{gl SasdEy osl JA ‘f/ T -
and Hydrogen molecule? e Ut Sk
iii- Why is BF; electron deficient? e U g Sl BF, -iii
iv- Define crystalline solids. Also give examples. i) u‘i!\fm! Ez‘:’uy/?JJﬁ‘uf[}”/ -iv
v - Define condensation. Jc‘_i: ..y/’Ju’«“lf -v
Vi- What is meant by %% concentration unit? S Je L e Ve 2y A %% -vi

Give an example.
vii- Whatis Tyndall effect? fe e i -vid
viii- Write down two examples of "Liquid in Gas" solution. “E u‘ft'}' » J S dl. 9 J! B 111

4 - Write short answers to any FIVE (5) questions.  (6x2=10) -é .//" .-.-,wz/" L=y (5) 6 be J:f -4

i- Define Non-Electrolytes. Give an example. -2 Je S B JI‘TJU"{U’Png -1
ii- Whatis 'Salt Bridge'? Write down its function in a Galvanic Cell. -2 (K U1 U 7oA Wee | G T -
iii- What s 'Alloying'? Give one example. e dite ‘-
iv- Define Oxidation Number with-an example. Ay IS AT T sa S g v
v- Whatis the difference between 'Alkali’ and 'Alkaline Earth Metals'? Se U 3/ l/ui‘ R /Jluuﬁl sl Oﬁ, -v
vi- Write down any two uses of Calcium metal. ,&U..,Ulrfl nL J’: / -vi
vii- Why are sliver and gold least reactive metals? Ut ud 1, [ .:/,Vﬂf sl - Vil
viii- Write down chemical reactions of Mg with O, and No. 2R ey LN, 510y - il

(10 é —
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Section - II (22 o U/‘ —) 2

5~ (a) Write down a note on any five types of molecules. (5) -2.‘.;"//“.‘,)4 i ({:,L u’é/d’ﬂ{gt (W -8
(b) Write down general properties of Covalent Compounds.  (4) LEE el (b 14 u-zg.m,f (9

6- (a) Write down any five results of Rutherford's experiment. )] 2R ég e ML FL b (W) -6
(b) Define vapour pressure. Describe various factors (4) Ly 1 g S -y g Ag i (&)

affecting it. ) RSy I YN

T~ (a) Describe the process of "Rusting of Iron". ) LB molly SHL 6 Jed” () -7

(b) Give four characteristics of colloids. C)) & &Eﬂ!‘?‘/!‘y Sl (L)

18-15t A 124-116000



